2025

A1 DI%A
= o=
SI=ME

INENT o )| |

q
R P ar:

(A=1H71Y A85EEF)

2lotlAt ot= ofE= MEiottl £ MatE FAIH
HAZR F2-Z2HME &8 =gA=ZILD



=
QIS 445t ZRA AF. IR0 FTH 0] 237} KUK, Sk

43,0002 / ALC41% / 375n0 / HigsH] 4,0008 HE
=

X3 DY/ o5 | yExE

£ AU 22 WS BRIIS HE SR% QYA
AUY 20| H|IZ D25 FUS Ao 1=M0I HHE 55 O 70| LIHEAM L]
- e
r———
&
B |
P40 5
eraat v
= L "
{""--_--""

ACL. 42% 52,0002 / 365m0 / izt 4,0008 He
ACL. 24% 28,0002 /365m0 / ti&sH] 4,000 H

FRESEE E8 [ BEXY

L=

—T

ot
I.

YO 272 Ye 125 220 2ha] 12220 HESH =40
o

S
s (==

S8 NYYo| YUAT FEL B SU0) F ¥, T2/ 1 ZEE B 90 M ¥ B,

18 11,0002/ ALC12% / 375m0 / HiH| 4,0008 BE
38 35 0008 /ALC.12% / 375nb3Y / st 22

HESNZIHSIEHR / 25/ 0t271Y

18 23,0002 / ALC.25% / 3750 / Hi&H] 4,000 HE
24 48,000%J / ALC.25% / 375mdx2H+HEX27K / HiSH| 4,000 HE

ECECUYSEE/ U5 / ABAT|Y, HExE



g A IS 1R

AR B BIIE A2 7|21, 9 R0t RN TIXI0IS HE G4 HE S
Sfefoz HZH B

7
] ?IEJ‘}IH]II
B

CH ]8,000% / 100~134gx3~40|, & 400g / Hi&H| 4,000 H=
% 15,000 /67~80gx5~601, % 400 / tsH] 4,000 B
A 10,000% / 50gx801, & 400g / HizsH] 4,000% HE
OIHITHA S RELS|IAL/ L5 [ OHIME X7 |Y

200 2M FS $L7ISAE HEQ WS 0|0{7h= HE FE 7|-0| LU

T ME2 TE He 4% Oloh MG LEXNZ2 WO T Ader R dxj= 2| S =8,

i 40,000 / 3uat B 2L @O, 2 5008 / bt 4,000 HE
2 30,000 / 2t G- 2 QRO ZUIA 2K, 24 220g / HidH| 4,0008 HE

@RS/ £ / MR

1r— 1(2’”‘@

8,000 ¢ / 500gx3=(3H 294 100%) / HidH] 4,0008 H=

A‘I%]- S 5!-/ §_IA /()1]H|A|-9_|X-Ij[ A, oiE_JIQ_%uI-

oL THO-L+H/ SO

—

0

olor

SAZETHME

YAt OfF| JITH SAY HA2HH MARY QIR 32 =22
O

=0—o H (A
[eZ[e]

Hi= 2t gLICH ZFHoHA|TE tlide 2 UREES 0r4R{0] Fof St G 2+ EUsH

R 200g, WQl= TAH 200, 2= 2 Hj 285g / HiSH| 4,0008 B

|-0|.

35.000+—>31,000</ 24

)
SUSAME @EAY / 2 / ofHIAEIH7 Y



T ME

b5
=

AS

ot _TIHIt

IHIFAZ

HOfl A M| 2 12 T 1

1|
=1

nEcte]

£, m2jnjel Hxg

HEME. 2
3

At 20 022 MAY 8=

o
A=t

= oA

XAl
—a

2HAES 90% 0o Zeh et 7 | X2 ZARH =0

E=S
=

] 5,000% | MR 20gx8= /[ HiZH| 4,000 HE

=L

=

65,000 % / 2171 200gx2%, 27{2] 200g, ZEE 200g / &k 4,000

C
[

f

A

RgdE) / &8 / &

N

2UH((EY

Ct

=Y/ MY

EZNASYSIAIHL REBSIAL/

E

HCH = A= Y A

o

=
o

Kilo

H|
=

o
01710 2t =YL

St Al
— 1

F

O 2

=
=

HE
E=

Al 7L CFEE 40

Ch=
O

b

2t

e

=

202 11,0008/ SAH 5.4gx20% / Hi&H| 4,000

S5H| 4,0008 Ee

S
er

H/ i

A
e

| 550gH+AtE I

A

(

= D0t

38,0002 / izt 2kg+2u

322 16,0008/ SARIZ 5.4gx322 / HiSH| 4,0008 EE

i/ RHEARE

d

HXISRIEAIE]) / S

AEMAHSS

SotCt



o
.

= EA

z=Oo ut
= -

H S0t

F

=

[l

iy

-

=Ml

FA}, OPATHEE AR

UL MIE

Ht

10

HAEML!

=
=

ol
oll

g
7% Qo=

LH
gl
ol
o
o
<
<
I
<o
= ul
— od T
on i o< ] .,
R =1 qW._ 3 _n.wr, i
- =l
# L] %] K
= — KR U]
-,
A = o W
N - o o
o 3D % n- Ho
m 2= _l ~ ol
R ol
o ¥ M 53
~ o~ - |_ = H
- 12 <+ e
KH o1 UE
— = R
orl  Ho I
o A ik R
o 8o ozr
o ® meu_ o)
o g2 a 3T
~~ I O_l o
i 1
o =
ofl X0 o
Ho z
o =)
-~ al mn_
< ol
®
LH
pall
ol
o
o
<
<
o ~3
P oo
= =)
|
= S
N ol T
= 2
1o (e}
A 43
b=y _ln_ o
I
: oo
b BE
M__.u _._.__ i E_ET
= Ol —
._nu o — I KD
g - X == N
s 48 _. o nl U
o oW o KD BT
% i . k) g2
\ -~ K
b H ol
4 hw “_.w._ _._._IO o¥ mu__.‘_
3 | ™ s ol g
L 2= o ol ™
I s X [
: ol Bl g
. m < CET
= =
09 Mo _._.A“_o ok
o <0 ar
N~ AT K-
wr_u ot
| T U o)
° WE KD ..u.M_.__
; — 3
= ol
- o
[~
__OH_

2 39gx37H / HiiSH| 4,0008 B

(o]
=]

47|

3

4/ A

X
(i}

18,000 ¢/ of=E 512 39gx47H, 2AMSL &

(ZZHI0|AH2 A8) / &

IT
3

13t

’

FEa

25,000 / 252t 60g, 1252t 120g, EEZE 100g / Hi&H| 4,000% HE

OlIYAEFS R/ FH / 0ta71Y



12

CHa & MIE

k

K0
al

¥

2530h 20 H ME.

Ct
[=}

A

[e]l]
=

[ &F RO A

x

3ot

71A

=l

=

25,0002 / 2r1% 280gx24, 2501 280gx 14 / S| 4,000

THA% 408) / Bii&H| 4,000 25

PN
(=]

37,000 / 15t 2404342808,

MIE

=
=

AEM L.

=
=

S

Ut 2014

=2z

AEIH
==

4 / LS - OF7FA|OF- OFMSE 2k 15gx107H / Hii&H| 4,0009 B

o
2]
=

24,300

=

’

He

=

27,0009 / 1224, 440g / Hii&H] 4,000



